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1084 a. Dokazati da je za sve prirodne brojeve n ≥ 0:   125|3 +

+
nn  

 

Za n = 1 

 
111 25|3 +

+  
21 25|3 +  

9|3  

 

Pretpostavka da  za n = k ,  125|3 +

+
kk  

 

Za n = k+1 

 
111 25|3 +++

+
kk  

21 25|3 ++

+
kk  

12255|3 +

⋅+⋅
kk  

 

 

I način 

 1225253|3 +

⋅+⋅+⋅
kkk  

 ( )125253|3 +

+⋅+⋅
kkk  

 k53|3 ⋅   i   ( )1252|3 +

+⋅
kk   ( pretpostavka) 

 

 

II način 

 11 232555|3 ++

⋅−⋅+⋅
kkk  

 ( ) 11 23255|3 ++

⋅−+⋅
kkk  

 ( )1255|3 +

+⋅
kk      i  123|3 +

⋅
k  

 

 

www.naukamladima.com  

 

 


